20224 —fiEEA FECE ENEL IEREE

NRBERERE DKLE REZEXE @S AREEFE HBHM(EHER)
# B FE | RE FE | RE FE | RE

IRADE
1. BEFHIA
SEAN

& 490,000 528,500

INEE 490,000 528,500
CINERRRE R

EEMRE 33,220,000 33,336,990

R"EH 4,800,000 4,996,300

INEE 38,020,000 38,333,290
-REXREXE

EEMRE 35,160,000 33,936,640

R"EH 1,600,000 1,393,375

INEE 36,760,000 35,330,015
ZDHDIRA

Hite 0 130,000

ZTOMOBBE 323,000 560,000

XiEEE 10,000 1,800 10,000 50,000 91,770

HEEWEEES) 280,000 281,000 30,000 37,350

HEURA 55,310 1,000 686
KBEZITASH(A) 38,310,000 38,939,090 36,800,000 35,982,675 541,000 750,956
IR A & 51(B) 75,672,721
ZHDOER
1. BEXH

HwEFY 20,800,000 20,726,568 22,600,000 21,035,392

E5FY 2,000,000 2,269,000 1,600,000 1,863,250

EERAE 2,700,000 2,746,011 2,100,000 2,177,839

REE 100,000 104,200 780,000 728,165

BHEEE 420,000 406,414 330,000 320,900

R 160,000 153,405 160,000 162,905

KizhE 300,000 334,858 300,000 352,002

BEEE 200,000 212,355 380,000 255,091

fEm-HERE 300,000 464,394 240,000 268,883

BHE 200,000 126,137 400,000 462,848

BEE-REXNERE 200,000 283,773 200,000 74,135

B REEEE 500,000 317,100 100,000 34815

WEE 350,000 265,808 350,000 240,338

RE 2,280,000 2,240,000 3,180,000 3,180,000

HEE 860,000 858,556 200,000 164,098

1)—2 % 80,000 62,832 150,000 133,144

FECXEE 10,000 10,000 10,000 5,000

HE 20,000 14,875 30,000 18,240

2D S 1,041
2. EEXH(EER)

HwEFY 2,250,000 2,328,833 2,250,000 2,328,833

BES5 240,000 230,000 240,000 230,000

EERNE 400,000 397,471 400,000 397,472

REE 10,000 900 10,000 900

EHEEE 10,000 6,839 10,000 6,838

BEE 20,000 23,818 20,000 23,818

EEG-HERE 15,000 17,344 15,000 17,345

FAB AR 20,000 330,768 20,000 330,767

& 100,000 110,525 100,000 110,525

XHLEREN 270,000 325,600 270,000 325,600

LHEBE 275,000 300,150 275,000 300,150

FECXEE 540,000 438,938

HE 5,000 21,494 5,000 21,495

XIFIR 4,685
BEEIHE(C) 35,095,000 35,690,028 36,725,000 35,571,829 540,000 443623
X H&EHD) 71,705,480
BEEIFEFHA)—(C) 3,215,000 3,249,062 75,000] 410,846 1,000 307,333
L HjIR X ZRE(E)=(B—D) 3,967,241
AT AR 32 2= 2A(F) 65,184,912
REAFEBIR T = 58=(E)-(-F) 69,152,153




